1.3 ZIXKBAREHE (3)

g —wkitiz e N




R
1. —8REN—ESFS T, 2aal3 s
A1: 10, AC=24m, REHFE.

C

R H B L R BE A L A 7K - B BE Y L Y 4835 EE




R R
2 —HBITERRIZSFITFE SN RALT
| SB&k. (WHED

H R ABRIIREL A
1:1, AE=2K, XTI
ENRAL RS =B
ABTEZOXK? fiE
 HEERZDXK?

[
ﬂ‘.ﬁ e
\




RHREE K

EHE

= YA A

2 FESE

KA KREIZH

1

TE/AABCH, LC Rt/, idAB=c, BC=a, AC=b.

(1) FHa: c= =

Q)ﬁa.c \/_ \/59 C:6\/§9 jéb

(HQ
C

, MRa:b

o

, BAE

D

C
2

— 63, a=632.  b=+/6 =6

LA=AERAKTER R ER, &%

a:;,RQbZ\/CZ—CZZZ\/g é \/§
J2

—,C

2 a =

,. L]

— L) 7,

c 2



%16

Z ) N 1:0.8, s CD -
ﬂé, BC: E

X

|

L okt AB I3 B

. (BE 5 AE lKE

1

s LK 11, 6, AE=%

Ch. — B fZ A6 3 B HT #6511

THRK, SR 0T MR BRI N, bRt bR e
(45 T 0. 01 2K)




3 3 15
fi#: FERtAAEBH, AE= ?[e, BE= —-=0. 8= —ale

2
AB:x/AE2+BE2=\/(%) ( ) *é_

15
FERt ACFDH, DF= gX 1. 6—35[6

= CF? + DF’ :\/(15) +3% = 3?

8
BC = Lep = 2V¥
2 16
AB+BC+CD—3‘/_ 3*16F 3*59 3‘5 9\/_~7717l<

RN BEHRETH B BELINT. TR,

- . & [ J
-l z;ﬁﬁ"l_ i unx.‘,







%W%ﬁ

1, W, SEEMHE LRERBK \
3y15m, AD: BD=1 : 0.6, ZRLJE '
R B L T F BB BSBC N 2m.
PREESR H Z= 15 1 T i 5 Rk T )
FEESAENE, ?




2. WHE, AINEETHE FRKIZADRIE L 4. 3, BK
WBCHI L 1. 2, RINEDE=50m, TN FCD=30m,
RAMB M HEHRMEK (AEEHR0.01m)




BT, MER—REES

ys

I =ATEEES

, AC=BC=40cm. 4@%&:@:9@%@ JQ&E4y, ARG H 35K 5

FEMF IR IT T4k

(1) {REESAIK HIHATT R F RV
C

L=C

Ris.

D

Nere— J\

8 D)



MER—KFEEA=ATEE4,AC=BC=40cm.
¥#hd EHIRCDIY%ESy, RGHRN3TREEHSEN KB E
(1) REEZFIR H3FK K F KL KK EL?

(1) fiR: 7ERtAABC, AC=BC=40 (cm) C
S ABS/4C? 1+ BC? =407 +40% = 4042 (cm) E F
G \ H
.o. AC=BC 9 CD AB M 7\ \ N
= AN
AD=DB (ZHE=AF=%c—) A D

1
.CD= — AB=20+/2 cm
A= AT R R TR —%

' CO=5.2cm ~EF=2C0= 102 cm

JFIZET/8 GH=2CP= 2042 cm  MN=2cg= 302 cm




L EABLCAR SRR T8, ATFEEREN—LNE. WETRERFEZEE, B
i|l: https://d.book118.com/385043322143011221



https://d.book118.com/385043322143011221

